
hav(ZD) = ½ hav(L-d) - ½ hav(L+d) + ¼ hav(L+d+LHA) + ¼ hav(L+d-LHA) + ¼ hav(L-d+LHA) + ¼ hav(L-d-LHA)

L -> L L -> L

d -> d d -> d

L-d -> L-d L+d -> L+d L-d -> L-d L+d -> L+d

LHA -> LHA -> LHA -> LHA LHA -> LHA -> LHA -> LHA
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qhav(L+d-LHA) 0. qhav(L+d-LHA) 0.

sum   . sum   .
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difference 0. =4*qhav(ZD) difference 0. =4*qhav(ZD)

divided by 4 0. =qhav(ZD) divided by 4 0. =qhav(ZD)

ZD (looked up in table of qhav) ZD (looked up in table of qhav)
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